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Q.1:  the equivalent resistance

Calculate the equivalent resistance of the circuit below

‘aslball doglaall ygsai Jlaall Jsuudl (nd
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QOO OOV IIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIOIOIIIIOIIIIIIIIIOIIIIIIIIIIOIIIDIIIOIOOOIIOOIIIOIOVOIOVIVIOIIVIOIVVPIOIOVIVIIOLOIVIVIOVIOVIOLIIVIVILDOD
COPOOPOIPOIOIPPOIIIOIIOIIIIIIIOIIIIIOIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIISIOIIVIIIOIIIOIIIIOIIVVIOIVIOIPIIOIIVIIOIVIOIVIIOIOIIPIVOIIOIOIVIVIVIOIVOIVIVIOIVIVIVIPVOVIILIIIIPLOEL
COOOOOIOOIIOIOIOIIIIIIIIOIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIOIOIVIOIOIIVIIIOIIIOIOIIVIOIIVIOIIOIIOIIIOIOIIIOIPIIOIOIIIOIVVIOIIVIVVIIVVIPIIVVIOIVIVIVIVOIRIIIVIVIAORL
QOO OOV IIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIIIOIIIIOOIOIIOOIIIIROVOIOVVIIRIIVIIVIOVPOIOVOIVIIOLOIVPIVIVOVIOVIRLIIVIVILOD
COPOOPOIPOOIIIOIOIIOIIIOIIIIIIOIIIIIIIIIIRIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIISIOIIIPIOIOIIOIIIOIOIIVVIOIVIOIVIIIVIVIVIOIIVIOVIVIOIOIIPIVVIVIOIPIVIVIVVIOIVIVVIVIOIVIVOIVIVOVIIOLIIPIIRLID
QOO OOV IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIOOOIIIIOVIVIOVIVIVIVOVIVOVIVOVIVOIOLIIVIVIIOIIOVIIOLIVIIVIIOLDIRD
COPOOPOPIOIIPOIIIOIIOIIIIIIIOIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIOIIOIIIOIOIOIVIOIVIOIVIIOIVIOVIIVPIOIVIPIOIIPIVIVIOIOIVIVIVIOIVIVIVOIIIVIVIVVIIIPIIRLIDS
QOO OOV IIOIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOOIOIIIOIOIIOIOVIOVIVIVIVOVIVVIVIOVIVIIOLIIVIVIIOIVOVIRLILIVIVOLDIRD
QOO OPIIIOIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIRIIIIIIRIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIOIVIIIVIVIVIIVIOIVIVIIOIVIVIVVIVOVIOIPIVIVIVIOVIVIVIOVLIIIVPIIVIVILIIRLIRLIND

QO OOV IIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIOLOIIOIIVIOVIOIVIVOVIIIVIOVIVIVIIOLIIVIVIIOIVOVIIOIILIOLDIR

Q.2: the equivalent resistance

Calculate the equivalent resistance of the circuit below
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QO POV OIIIOIIIIOIIOIIIIIRPIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIDIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIRIIIIIIRIIIIIIIIIIIIIIIIIIIIDIIIIIIIIIIIIIIIIIIIIIIIIOIOIPIOIIIOIIIVIIVIIVVOIVIVIVIOVIIPIVILIRIIVPLIIL

COOOOOPOOIOIIPOIOIIIIOIIIIOIIIIOIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIEIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIIIIOIIIOIOIIOIOIIVIIIOIIIOIIIVIOIVIIIOIOIOIIIOIOIOIIOIOIIOIOIOIPIOIVPIOIVIVIIVIOIVVIPIIIOIIIIVIVIIRIIVIVIOOD

QOO OOV IIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOOIIIIOOIIIIROVIOVIIIIIVIVVPVOIOVOIVPIOIOVPOIVIIVIOIOVIRLIIVIILIO

COOOOOPOOIIPOIOIIIIIOIIIOIIIIOIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIOIIIOIIIVIIIIIOIIIVIOIIVIIIOIIOIIIOIOIIIOIOIPIOIOIOIPIOIVPIOIVIVIVVIIVOVIPVIVIOIOIVIVIVOIRPIIVIVLAOR

QOO OOV IIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOOIIIIPVIOVIOVIIOIIVIIVIOIOVIOVIVIIOLOIVIIVIIVIOVIRLIIVIVOLDIR

COPOOOIPOOIIPOIIIOIIIIIIIIIOIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIOIIIIIIISIIIIIIOIOVIIOIIIOIIIVIOIIPOIPIOIVIOVIOIIVIVIVIIOIOIVIPIVVIVIOIPIVIVIOIOIIIVIVIOIVIVIVIVVIIIIPIIRLID

QOO OOV IIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIOIIIOOIIIIOOVIOVIVIVIVOVIVVIVIOVIVIIOLIIVIVIIOIVOVIIRLIVIIVIIOLDRD

C OOV POIOIIPOIIIOIIOIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIPIOIIIOIPIIIOIIIOIVIOIPIIVIVPIPIOIVIPIOIIIVVIVIOIPIVIVVIOIVOIVIVVIVIIIVPIVIVVIIIPIIRLIDS

QO OOV OIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIOIIOOIIOIRVIOVIIIVIIVOVIVVIIVIVIOIOLIVIVIIVIVOVIOLILIIVIVOILDIR

QOO OOV IIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIOIIOIIVIOVIIIIIVOVIVVIOIOVIVIOLIIVIVIOVIOVIRLIIVOLDIRD

COPOOOIPOIOIIPOIIIOIIOIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIPIIIISIIPIIIOIIIOIIIOIIIVIOIVIOIPIIIVIVIIPIOIVIIPOIOIIIVIVVIOIPIVIVIOIVOIVVIVOIIIVPIIVVIIIIPIIRLID
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S Current and Resistance

Q.3: the equivalent resistance

Calculate the equivalent resistance of the circuit below

‘aslball doglaall ygsai Jlaall Jsuudl (nd

QO OOV IOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIINIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIINIIIIIIIIIIIIIIIIOIIIOIIIVIIOIIVIVIIOVIVIIIOLVIIVIIOVIOIVVIOVIOVIOVIVVVOVIOVIIVIIRIIVIVOVIVIIPIIVIVRVLIIL
QOO ORI IOPIIIII IO IIIRIIIRIIIIIIIIIIIIIIRIIIIIRIIIIRIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIPIOIOIIIIRIIOIOIPIOIIVIIVOIVIVOIIVVIPIOIOIIVOVIVIVOIORIIVIVILAO
COOOPIOIIIIOIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIINIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIOIIIVIVIIVIVIIVIOVIVIIIOLVIIVOIVIIVVOVIOVOVIVIOVIOVLIVIPIVIVOVILIRPIVIVPVLIIL
QO OOV IOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIOIIIIIVIOIIVIVIIOIVIIIOIVIIIVIIVIIVVOVIOVOVIVVIVIOVIIVIPIIVIVOVIVIIPIIVLII
C OO OO IIIIIIIIIIIIIIOIPIIOIRIIIIIIIIIIIIIIRIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOOIIIIRIIOIOIPIIOIIVIIVOIVIIOIVOVIIVOIOIIVOVIVIVOIOIIIVIILIOD
QOO OOV IIPIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOOIIIRVOIOVIIVIOIRIVIVVPOIOVOIVIOIOLOIVIVIVOIOVIRLIIVIILDOD
COOOOOPOOIIPOIOIIIIIOIIIOIIIIRIIIIIOIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIOIIIOIIIIOIIIOIIOIOIOIOIIIOIIIOIOIIOIOIOIPIVIOIOIIVIVIIVIPIIIOIOVIIIIVIRIIIRDVODR
QOO OOV IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOOIIIIRIVIIOVIIIIIVOIVVIVOIOVIIVIIOLIIVIVIIOIOVIRIILIIVOLDOD
COPOOOIPOIOIIPOIOIIOPOIIIOIIIOIIIIIIOIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIISIIIIIIOIIIOIIIOIOIIVIOIVIOIPIOIOIIOIIPIOIVIPOIOIIVIIVIVVIOIGIIVIVVIOIVIVIVIVIIVIVIVVIIOIIPIIRLID
QOO OO OIIIOIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIIIIIIIIIIIIIIIIIOIIIIOOIIOIOIVIOVIVIVIVOVIOVVOVVIVIOIOLIIVIVIIOVIVOVIIOIIVLIVOYLDIRD

COPOOOIPOIIIIOIIIOIOOIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIRIIIIIIIIIIIIIIIIIIIIIIIISIIIIIIOIIIOIIIIIIVIIOIOIPIOIIVIVIIPIIOIVIIPOIOIIIVVIVIOIPIVIVOIOIVIVIVOIIIVPIVIVVIIIIPIIRLIDS

Q.4: the equivalent resistance

Calculate the equivalent resistance of the circuit below

‘aslball doglaall ygsi (Jlaall Jsuudl (nd
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GO POV PIOIOPOIOIIIIIIIIIIIOIIIIIIIIIIRIIIRIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIVIIIOIOIIOIOIIIOIIVIIPIPIOIVIIIOIVIOIOIIVIOIIIOIIOIPIVIVIVIOIVIVIVVIOIVVIIOIVPIPIILIIIVPLOIL

GO POV VIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIIOOIOIIOOIIIRVIOVIIIIPIVIOIVVPIIVIVIOIVOVOIVIVIIOIVOVIOLIIVIVILIOL

QOO OPOVIOIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIOIIIIVIIVIIOIIVIVIIOVIVIVIOIOLIIVOIOIIVVIOVIOIVIVVIVIOVLIVIIRIIVIVOVIVIIPIIVIVLIIL

COOOPIPIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIINIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIPIOIIOIIVIIVIIOVIVIIIOIVIIVVIVIOIIVVIVIOIOVIVVVIVIOIIVIPIOVILIIRIIVRLIIL

GO OOV PIIOPIIIIIIIIIIRIIIIRIIIIIIIIIRIIIIIRIIIIIIIIIRIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIRIIIIIIIIIRIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIIOIOIIIIOIIIOIIIOIIVIIVIVIVVIOIVOIIVOIOIIVIIVIVIOIIIVIVILOO

QOO OPIOIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIINIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIOIIIIIOIIVIIVIVIIOVIVIVIVIOIOIIVIIOIIVVOVIOIIIVVIVOVIOVIIVIIPIIVIVOVILIIPIIVIVRVLIOL

COOOOPPIIIOIIIIIIOIIIIRPIIRII VIO IIRIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIRIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOOIIIIRIIOIOIOIIOIIVIIVIVIVIOIVIIOIOIIVIVIVIVOVIRIIVILAO

QOO OPIPIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIRIIIIIIIIIIIIIIIIIIIIIRNIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIIOIIOIIOIVIIIOIIIVIVOVLOIGIIVIOVIOIVIIVIOVOIVIIIVIVVOVILIIRLIRLID

QO OO OPPOIIIIIIIIIIIIIRPIIRRIIIIRIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRPIIRPIIOIOIIIVIIOIIIIVOIIOIIVIVIIVOIRIIIVOIERLS

C OO OO IIIIIOIIIIIIIIIOIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIOIPIIOIIIPIOIIIIIPOIIOIVIIOIOIIIOIIVPIOIIIVIVPOIPIVIOVIOIVIPIIOIIVIVIVOIOIILIIVRL VO

GO OO OPIIIIIIIIIPIIIIIIPIIOIIIIRIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIRIPIOIRPIPIOIIPIPIVIIVOIIIIVIIOIIVIOIIVIRIIIVODVOR
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